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Answer: C 

QUESTION: 62
 
Which type of column can be dropped from a table via the ALTER TABLE ... 

DROP COLUMN ... SQL statement?
 

A. XML column

B. LOB column

C. DOCID column

D. Hidden ROWID column

Answer: A 

QUESTION: 63 

What subsystem parameter in DDF specifies the maximum number of inactive or 

new connections queued that can be waiting for a DBAT to process the request? 

A. IDTHTOIN

B. MAXDBAT

C. CONDBAT

D. MAXCONQN

Answer: D 

QUESTION: 64 

If the OPTHINTS subsystem parameter is set to YES, and you issue the following 

DB2 command relating to optimization parameter hints: BIND QUERY LOOKUP 

(YES) what is the result of the execution of this command? 

A. A list of queries that are in error is produced.

B. Updated values are placed in SYSIBM.SYSQUERY and

SYSIBM.SYSQUERYPLAN tables.

C. New values are inserted into the SYSIBM.SYSQUERY and

SYSIBM.SYSQUERYPLAN tables.

D. Messages containing only the status of rows in catalog tables

SYSIBM.SYSQUERY and SYSIBM.SYSQUERYPLAN.

Answer: B 



 

 

 

 

 

 

 

 

 

 

 

 

  

  

 

 

  

 

 

 

 

 

 

  

  

 

 

 

 

  

 

 

 

  

 

 

 

 

 

 

 

Reference: 

http://www-

01.ibm.com/support/knowledgecenter/SSEPEK_11.0.0/com.ibm.db2z11.doc.comr

ef/src/tpc/db2z_cmd_bindquery.dita?cp=SSEPEK_11.0.0%2F10-1-1-0-0-2

QUESTION: 65 

Consider a logical data model that includes an Employees entity and a Projects 

entity. In this model, employees work on many projects and projects are worked on 

by many employees. The Employees and Projects entity is considered what kind of 

relationship? 

A. A one-to-one relationship.

B. A one-to-many relationship.

C. A many-to-one relationship.

D. A many-to-many relationship.

Answer: D 

QUESTION: 66
 
Which global variables statement is true?
 

A. A global variable is a synonym for special registers.

B. Like for special registers, the access to global variables cannot be granted or

revoked.

C. A global variable is a created DB2 object, which can be instantiated and used by

applications.

D. Global variables can only be used in native SQL stored procedures and user-

defined functions.

Answer: B 

QUESTION: 67 

Which DB2-supplied stored procedure captures statistics and DDL for DB2 

objects, extracts subsystem parameters and explain information for queries and 

applications, and returns the results in a data set or as a result set? 

A. ADMIN_INFO_SQL

B. ADMIN_JOB_QUERY

C. ADMIN_INFO_SYSPARM

D. ADMIN UPDATESYSPARM
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Answer: C 

Reference: 

http://www.redbooks.ibm.com/redbooks/pdfs/sg248151.pdf (page 72, see the 

table) 

http://www.redbooks.ibm.com/redbooks/pdfs/sg248151.pdf
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